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1.  (A) Discuss who are the various users of financial statements. 7
OR

Draw up the format of Vertical Balance Sheet as per the Schedule VI under the
Provisions of Company Act.

(B) Answer in brief any two : 4
(i) Give the meaning of the term “Accounting Principle’.
(it)  Define the Materiality Principle.
(iii) Define the Conservatism concept.

(C) Fill in the blanks : 3

(i)  When the whole Balance Sheet is converted into percentage form, then such
converted Balance Sheet is called a

(i)  The International Financial Accounting Standard (IFAS) 4 deals with
(i) “Disclosure of Accounting Policies’ is Accounting Standard no.

2. (A) On the basis of the following ratios, prepare Balance Sheet of Mahendra Ltd. as on

31 December 2010. Show all your workings and assumptions. 7
Current ratio 2.5
Liquidity ratio 15
Networking capital % 6,00,000
Stock turnover ratio 5
Rate of gross profit on sales 20%

Cost of goods sold to net fixed assets 2
Average debt collection period 2.4 months
Fixed assets to net worth 0.80
Long term debt to capital and reserve 7125
OR

Write a note on Economic Value Added (EVA).
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Attempt any two : 4

(i) State any two differences between a Fund Flow statement and a Cash Flow
statement.

(it)  Distinguish between Current ratio and Liquid Ratio.

(iii) Give the names of all the possible Profitability ratios.

Rewrite the following false statements correctly : 3

(1) It is mandatory to prepare the Cash Flow statement in accordance with the
Accounting Standard 1.

(i)  Cash receipts from disposal of property, plant and equipment and other long-
term assets is an Operating Activity.

(iii) Net Profit ratio is a Leverage Ratio.

Explain the difference between Value Added and Profit and Loss Account. 7
OR

How far is the need for Human Resource Accounting justified ? Discuss.

Attempt any two : 4
(i)  Name the methods which are used for Inflation Accounting.

(i) A company purchased investments of ¥ 10,00,000 in the beginning of the
financial year when the price index was 200. At the end of the year, the index
rose to 240 and the market value of the investments was ¥ 11,00,000.

Find out the profit or loss at the end of the year on the basis of
purchasing power.

(iii) Give the meaning of Social Accounting.

State whether the following statements are true or false. Rewrite the false
statements correctly. 3

(i)  The concept of Inflation Accounting considers the effect of both general as
well as specific price changes.

(i) There is no need to provide depreciation on natural resources under
Environmental Accounting.

(iii) The difference between the sales price and the production cost of a product is
the value added per unit.



4. (A

(B)

(©)

5 (A

TW-101

Discuss the advantages and disadvantages of Budgetary Control. 7
OR

With the help of the following information of Jayanti Ltd., calculate BEP in units,

BEP in rupees and the Margin of Safety ratio :

3 3 3
Estimated Sales (1,00,000 units) 20,00,000
Less : Variable Cost 12,00,000
Fixed Cost 4,00,000 16,00,000
Net Profit 4,00,000
Attempt any two of the following : 4

(i)  Give the meaning of the term “Differential Cost’.
(i)  Explain ‘Sunk Cost” with illustration.
(iii) What do you mean by CVP analysis ?

Answer the following in brief : 3
(1)  What are the various types of budgets as per the functional classification ?

(i)  What type of a Budget is prepared when the accurate forecast of sales and
revenues are not possible, demand is uncertain and level of production is
unstable ?

(iii) Define a Variable Cost.

Dinesh Ltd. manufacturers two products A and B for which similar processes are

used. The production details are as under : 7
Particulars A B
Units produced 30,000 42,000
Direct Labour Hours per unit 3 6
Machine hours per unit 9 3

Nos. of Set-ups during the year 30 120
Orders handled during the year 45 180

Overheads :
%
For machine activity 13,20,000
For production Set-ups 1,20,000
For handling of orders 2,70,000
17,10,000

Calculate the Production Overhead rate for per unit as per Activity Based Costing
Approach.

OR
Distinguish between the traditional Approach and the ABC approach of costing.
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(B) Answer in brief any two : 4
(1)  Give the meaning of the term ‘Responsibility Accounting’.
(i)  Give the names of various centres under Responsibility Accounting.
(ii1) What is “Forensic Accounting’ ? Explain it in brief.

(C) State whether the following statements are true or false. Rewrite the false
statements correctly. 3

(1) Responsibility Accounting is based on the assumption that every cost
incurred must be the responsibility of one person somewhere in the
organization.

(i) It is mandatory that all forensic Accountants must be Chartered Accountants.

(iii) The implementation of the activity based method of Costing is more
expensive than the traditional method.
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